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1 =% il [EPN /N3 4/ 2 34. 68 8#% ( 0.63)
2 ViR K 5PN /N3 4/ 5 35.39 158 (0.72)
3 R B Vr=F=34) /N3 4/ 7 35.60 1L#%  ( 0.80)
4 tEH  FEA PN /N3 4/ 1 35. 65 118 ( 0.75)
5 A K 71P /N3 4/ 6 35. 81 8fk  (0.72)
6 HUl i SPHAE T L /N3 4/ 3 36.10 %% ( 0.80)
7 5 H B (5PN /N3 4/ 4 36. 40 % (0.61)
8 e BFHE TSS& X 78 /N3 3/ 4 36. 83 T#%  ( 0.63)
9 HE  JER F A % - B /N3 4/ 8 37.58 9% ( 0.63)
10 B s TSS & X A B /N3 3/ 2 37.80 9% ( 0.76)
11 Wl 28E TSS & X A8 /N3 3/ 3 37.97 6% ( 0.63)
12 Bp EEA (5PN /N3 3/ 5 38.52 6% ( 0.83)
13 &5 FH 71P /N3 2/ 4 39.54 St ( 0.83)
14 HAK FHE i S C /N3 3/ 6 39.93 5%  ( 0.74)
15 R IR e S C /N3 2/ 6 40. 34 58k (0.77)
16 faA M T = X /N3 2/ 5 40. 39 8tk ( 0.88)
17 gy Ht {[EPN /N3 2/ 3 40. 46 8% ( 0.79)
18 FIAE  {FHik Rt 2 /N3 3/ 7 40. 50 5% ( 0.53)
19 g Ath M7 2 /N3 3/ 8 41.34 T (0.72)
20 EH SO (5PN /N3 1/ 4 44. 53 28%  (0.72)
21 B ezl SPH& IR /N3 2/ 2 44.74 5k ( 0.74)
22 K Do SPH& IR /N3 1/ 6 46. 44 4%% ( 1.05)
23 ¥l il SPH& IR /N3 1/ 5 47.19 1% ( 0.95)
24 FESEE BB SPHZ:IR /N3 1/ 3 49. 71 2% ( 0.76)
25 KWg  #5F SPHZA= I (L1 /N3 1/ 2 53.56 ( 0.79)
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